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Instruction : Working should form part of your answer.

1.  Arvind purchased a Motor-car from Babu Traders under the Hire-Purchase system on
1-4-2010 and X 2,60,000 was paid at the time of delivery. The remaining amount was

paid 1n the following instalments with interest at 10% p.a. on outstanding cash price. 15
31-03-2011 < 2,94,000 31-03-2013 < 2,52,000
31-03-2012 s 31-03-2014 < 2,31,000

Arvind is computing the depreciation every year at 15% p.a. under written down value
method. Accounts are closed on 31% March every yeat. Full cash price is debited to
motor car account at the time of purchase.

Following Journal Entry was found from his books of Account on 31* March, 2012.
Depreciation A/c. Dr. 1,40,250
To Motor Car A/c. 1,40,250

You are required to prepare Motor Car A/c. and Babu Trader’s A/c. in the books of
Arvind.

OR
(a) Inconnection with Hire Purchase, clarify the following terms : -
(1) Cash Price
(2) /Down Payment
(3) ' Interest Amount
(4) . Contract Price
(5) - Ownership of Asset purchased under Hire purchase

(b) ~On 01-04-2012 Unnati Trading Company purchased a machine on Hire Purchase

system. The details are as follows : 10
(1) Rate of Depreciation . 20% p.a. on WDV

(2) Interest Rate :  Fluctuating

(3) Down Payment :  Nil

(4) Second year Depreciation is < 4,000 less than the depreciation of the first year
(5) Accounting yearsendson : 31 March every year

(6) First half yearly Instalment : ¥ 23,000 including interest of I 3,000.
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(7) Interest in the 2" half yearly instalment is ¥5,000 which is 1/7™ of total
- amount paid at that time. :

(8) 3™ half yearly instalment was of ¥ 44,000 which includes payment of 40% :

cash price. -
(9) Last half yearly instalment on 31-03-2014 was paid with 20% p.a. interest.
Calculate : s

(1) Cash price of Machine
(2) Interest in each instalment
(3) Depreciation amount for each year.

2. (a) Explain the following térms in connection with investment : 6
(1) Face value and Capital value
(2) With-interest and without-interest transactions.
OR

Explain FIFO and LIFO methods of valuing closing stock in case of investment
account. Whether the valuation of closing stock differs under both the methods ?
Explain with example.

(b) From the following information, prepare 12% Bonds Accounts in the books of

Yash for the year ending as on 31" March;, 2014 : 9
(1) Balance as on 1* April, 2013.: Face value ¥ 12,000 and Capital Value 4
12,600

(2) Interest is paid every year on 30" June and 31 December.
(3) Closing stock is to be valued by FIFO method.
(4) Transactions during the year :

Date Face value (Y) | Rate () Remark
1-9-2013 4,000 104 Purchase with interest
1-10-2013 6,000 05 Sales without interest
1-12-2013 2,000 98 Purchase without interest
1-2-2014 4,000 104 Sales with interest
OR

Mr. X is an Investor dealing in 12% Central Government Loan. On this security
interest is payable on 30™ June and 31* December every year. Accounting year
ends on 31 March. On 1* April, 2013 opening balance was I 17,200 (Face Value
% 18,000). The following are the transactions of Mr. X regarding the purchase and
sale of 12% Central Government Loan during the year ended on 31" March, 2014 :

Date Face value () | Price () Remark
01-10-2013 20,000 99 Purchases with interest
01-02-2014 20,000 99 Sales without interest
31-03-2014 10,000 103 Sales with interest

Brokerage is 2% on Face value. Give entries in the books of Mr. X for the year
ending on 31* March, 2014. Use FIFO method.
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3. Ami and Bina entered into joint venture agreement to share profit and losses in the
proportion of 3 : 2. Ami supplies goods worth ¥ 3,00,000 to Bina and incurred expenses
-of Z 10,000. During transit goods worth ¥ 25,000 damaged and a sum of ¥ 15,000 was

received by Ami from the Insurance company.

Bina reported that 90% of the remaining goods were sold at a profit of 30% on original
cost. (Excluding expenses). At the end of the joint venture, a fire occurred in the godown
and as a result the balance stock lying unsold was damaged for which Bina agreed to
compensate Ami by paying in cash 80% of aggregate of the original cost of such goods
plus proportionate expenses incurred by Ami.

Bina is also entitled to a commission of 5% of net profit of joint venture after charging
such commission. Bina incurred Z 5,000 to sale the goods. Bina had earlier remitted an
advance of T 50,000 to Ami. Bina settled the account by sending the draft for the balance

due.

Prepare necessary Accounts in the books of Ami. 15
OR

(a) Differentiate between Joint Venture and Partnership. 5

OR
What is Joint Venture ? For what type of businessjoint venture is appropriate ?

(b) On 1* October, 2013 Aaj and Kal entered into joint venture to share profits and
losses in the ratio of 60% and 40% ‘respectively. They deposited ¥ 30,000 and
Z 20,000 respectively into their joint bank account. They decided that joint bank
account is to be used for pirchase and sales, while expenses are to be paid by each
partner from their private funds.

Aaj is to be paid salary of € 1,000 p.m. and Kal to be paid a commission of 8% on
sales made by him. The following are the transactions of joint venture.

(1) Aaj purchased goods werth ¥ 25,000 at 10% discount and paid ¥ 250 for
expenses.

(2) Kal purchased goods worth ¥ 20,000 at 5% discount and paid < 200 for
expenses.

(3) _Kal sold some of the goods at ¥ 50,000 and paid X 100 for expenses. |
(4) Aaj purchased the remaining unsold goods for ¥ 15,000 for his personal use.

(5) Aaj agreed to pay I 500 for the stationery purchased on credit for joint
venture business.

(6) On 31* March, 2014 the business was closed and accounts were settled.

From the above particulars, prepare Joint Bank Account Joint Venture Account,
and Co-venturers account. 10

t. (a) What is Tally Software ? You are appointed as an Accountant by a newly
incorporated Unicare Garments Pvt. Limited. Company is using 7.2 Tally Software
for accounting. You have to create your company for accounting. How would you
doit? | 10

OR
Explain the various options in the menu of Gateway of Tally.
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Reply the following questions in one or two lines : 5

(b)
(1) In Tally software, what which function key is for recording receipt voucher ?
(2) In Tally software, what which function key is used for recording the
transaction of ‘Cash deposited in Bank’ ?
(3) What is the function of F2 key in Tally Software ?
(4) What is the unit of measuring the speed of computer ?
~ (5) What are the types of printers ?
5 Select the most appropriate answer from the alternatives given : 10
(1) In case of Hire purchase, interest is included in
(a) Down payment (b) Hire purchase price
(c) Cash price (d) None of the above
(2) In case of Hire purchase, the depreciation is calculated on
(a) Hire purchase price (b) Contract price
(c) Cash price (d) None of the above
(3) The main difference between sale under Hire purchase agreement and sale under
instalment system is regarding
(a) Delivery of the goods (b) Ownership of the goods
(c) Sales price of the goods (d).None of the above
(4) Sale of Joint Venture goods by an agent isdebited to
(a) Joint Venture Account (b) Agent’s Account
(c) Joint Bank Account (d)’ None of the above
(5) The persons entered into Joint Venture business of advertising are known as
(a) Ad-ventures (b) Partners
(¢) Co-ventures (d) None of the above
(6) When one of the co-venturers maintain the accounts of joint venture, the expenses
paid forjoint venture is
(a) / Credited to joint bank account
(b) Credited to joint venture account
(c) Credited to expenses account
(d) . None of the above
(7). The movable mark on a display screen of computer is
(a)  Driver (b) Cursor
(e) Mouse (d) None of the above
(8) Arithmetic and Logic unit is a part of
(a) Keyboard (b) Monitor
(c) CPU (d) None of the above
(9) Interest on security is calculated on
(a) Market value (b) Purchase value
(c) Sales value (d) None of the above
(10) Cost of investment does not include
(a) Interest (b) Brokerage
(c) Stamp duty (d) None of the above
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